
Section 1

Simplify each of the following:

Your turn

1.	 x6 × x3

x6 + 3

x9

2.	 x3 × x5

x3 + 5

x8

3.	 a11 × a8

a11 + 8

a19

4.	 b7 × b4

b7 + 4

b11

5.	 y10 ÷ y5

y10 – 5

y5

6.	 x6 ÷ x

x6 – 1

x5

7.	 d6

d2

d6 – 2

d4

8.	 g9

g4 

g9 – 4 

g5

Section 2

Find the value of each of the following:

1.	 x0

1

2.	 100

1

3.	 124

1

4.	 116

1

5.	 z0

1

Section 3

Simplify each of the following:

1.	 (x2)3

x2 × 3

x6

2.	 (y3)5

y3 × 5

y15

3.	 (a2)4

a2 × 4

a8

4.	 (b10)2

b10 × 2

b20

5.	 (13)2

12

32 = 19 

6.	 (45)3

43

53 = 64
125 
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1.	 Simplify x3 × x-5

x3 + -5

x-2

2.	 Simplify y-6 × y-2

y-6 + -2

y-8

3.	 Simplify x4

x-2

x4 – -2

x6

4.	 Write (11
4)2 in its simplest form.

11
4 = 54

52

42 = 25
16 or 1 9

16

5.	 Simplify c-2 × c-3

c-2 + -3

c-5

6.	 Write (52
5)2 in its simplest form.

52
5 = 27

5
272

52  = 729
25  or 29 4

25

7.	 Find the value of 24 ÷ 2-4

24 – -4

28 = 256

8.	 Simplify (3x2)3

33 = 3 × 3 × 3 = 27

27x2 × 3

27x6

Challenge

Simplify 2x5y-2 × 3x-7y-6

6x-2y-8
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